2

-INSTALL THE BEARICUDA ALUM.
TAG 364-319 APPROX. 1" FROM
TOP OF DOOR AND 13" FROM
LEFT SIDE OF DOOR (AS SHOWN
FOR REFERENCE)

-(2) HOLES TO BE DRILLED WITH

-(2) 255-326 RIVETS TO BE USED.

',LE(Q"‘ PART NUMBER Description QTY.
1 311-014 FRONT ASSEMBLY 1
2 311-015 MAIN DOOR ASSEMBLY 1
3 311-016 BASE ASSEMBLY 1
4 311-017 LID ASSEMBLY 1
5 311-018 REAR ASSEMBLY 1
6 311-019 SIDE ASSEMBLY 2 #30 DRILL.
7 311-020 CHUTE LID ASSEMBLY 2
8 311-021 LEFT DOOR ASSEMBLY 1
9 363-435 LID SHOCK STUD 2
10 [363-433 27.25IN GAS SHOCK 2
11 253-180 5/16-18 NYLOCK NUT Z 2
12 254-122 5/16 WASHER 7 2
13 253-267 1/4-20 U-NUT Z 4
14 292-034 RIGHT FRONT SUPPORT 1
15 292-035 LEFT FRONT SUPPORT 1
16 292-000 CORNER BRACKET 4
17 250-791 1/4-20X1 CB Z 40
18 253-174 1/4-20 NYLOCK NUT Z 40
19 254-060 1/4 WASHER Z 40
20 250-793 1/4-20X1 HB Z 4
21 250-800 3/8-16X5 HCSZ HEX BOLT 2
22 250-799 3/8-16X4 HCSZ HEX BOLT 2
23  |250-798 3/8-16 CZ HEX NUT 8
24 250-797 3/8 LW MECH REG SPLIT 4

TUFF

AMNIMAL RESISTANT

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TUFFBOXX INC. ANY REPRODUCTION IN
PART OR AS A WHOLE WITHOUT THE

WRITTEN PERMISSION OF TUFFBOXX INC.

IS PROHIBITED.

BOXX

STORAGE SOLUTIONS

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL* 1/32

ANGULAR: MACH + BEND * 0.02
TWO PLACE DECIMAL  +0.03
THREE PLACE DECIMAL * 0.005

DESIGN:

DRAWN:

APPR

QA

B A. MILLER

453-006 - TUFFBOXX BRANDED
453-025 - BEARICUDA BRANDED

NAME DATE
A.MILLER | 2017-05-09
A. MILLER  2017-05-09
2017-05-17

MATERIAL

FINISH

SEE PART DRAWINGS

POWDER COATED

DO NOT SCALE DRAWING

1

TuffBoxx Inc.
TITLE
BROOT ASSEMBLY
SIZE  DWG. NO. REV
A 453-006 1
SCALE: 1:50 WEIGHT: SHEET 1 OF 1



cpadden
Text Box
453-006 - TUFFBOXX BRANDED
453-025 - BEARICUDA BRANDED

cpadden
Text Box
-INSTALL THE BEARICUDA ALUM. TAG 364-319 APPROX. 1" FROM TOP OF DOOR AND 13" FROM LEFT SIDE OF DOOR (AS SHOWN FOR REFERENCE)
-(2) HOLES TO BE DRILLED WITH #30 DRILL.
-(2) 255-326 RIVETS TO BE USED.

vhoyles
Line

vhoyles
Line

vhoyles
Line

vhoyles
Line

vhoyles
Line

vhoyles
Text Box
1


	Sheet1
	Drawing View1




